N = 0l & At & Ml A

2021 = =0 & LA F=HSK

2N =ASAD

B ==X

chelt EH ORI (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FHEXH 30,499,057 26,484,187 4,014,870
= 24,209,215
< 2,023,783
Al 4,266,059
FHEXNSH 30,449,465 26,425,259 4,024,206
= 24,209,215
< 2,023,783
Al 4,216,467
FHATX A 27,788,405 23,415,399 4,373,006
= 24,205,415
< 1,882,643
Al 1,700,347
FH=W 26,894,905 22,331,499 4,563,406
= 24,205,415
= 1,882,643
Al 806,847
301 LEEAF 25,644,905 20,831,499 4,813,406
= 23,080,415
< 1,795,143
Al 769,347
01 AR 2Z A5 3 25,644,905 20,831,499 4,813,406
OMASE FAHASWH(YXU=A) 25,644,905
= 23,080,415
< 1,795,143
Al 769,347
403 XSS A=0l& 1,250,000 1,500,000 A250,000
= 1,125,000
= 87,500
Al 37,500
02 S 2SO HEAE R E AL H 1,250,000 1,500,000 A 250,000
OMASE FAHASWH(=ERX) 1,250,000
= 1,125,000
< 87,500
Al 37,500
THHISHE ALY 100,000 0 100,000
301 LA F 100,000 0 100,000
01 MEIBEE 263 100,000 0 100,000
OFHHI2HM(AFE =H=A) 100,000
FH=EAREE 29 1,500 1,500 0
201 Let24dH] 1,500 1,500 0
01 At 22/l 1,500 1,500 0
OFH=XAEE 28+ 1,500
d=8 FAHA=SNUHERZ 24 5,000 5,000 0
201 ¢4l 5,000 5,000 0




2N =ASAD

B ==X

Chel: XA S CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 5,000 5,000 0
Od=8 FAHA=ANUERIT 29 5,000
FHEX g2 =24 2,000 2,000 0
203 YR =&l 2,000 2,000 0
03 A FXH S =AY 2,000 2,000 0
OFH=EXBY 42 = 2,000
HFA FAHA=ENEH 29 300,000 0 300,000
307 21201 A 300,000 0 300,000
05 RIZt2IEt = 300,000 0 300,000
O&E=A F=AH=XNEH 294 300,000
FHEXN MHlA 28t 10,000 12,400 A2,400
201 £B-2dH| 10,000 12,400 A 2,400
01 At 22l 10,000 10,000 0
OFAH=X MHIA 23 10,000
HEeE -2 REAHIA K& 4,000 4,000 0
201 24| 4,000 4,000 0
02 =224l 4,000 4,000 0
Oger2H 4,000
HASHE gUHESEZ N 400,000 400,000 0
501 A3 400,000 400,000 0
01 2t Xt= 400,000 400,000 0
OMASHE 2UHESS NE 400,000
SAUAUOIIE MIIeza NH 66,000 54,000 12,000
301 LeEBAF 66,000 54,000 12,000
01 MI28E +06l= 66,000 54,000 12,000
OFFUUOIE HMIIeza X 66,000
OlHXIEERHE AFS 5,000 5,000 0
201 ¢4l 5,000 5,000 0
01 At 22l 5,000 5,000 0
ONUXIBIS ™ At 5,000
HAANS =HSZ M ,379,600 2,658,400 A 278,800
= 3,800
< 141,140
Al ,234,660
HASHE =28 HE=S 368,000 480,000 A 112,000
< 80,000
Al 288,000
101 @124 dl 177,000 220,000 A 43,000
< 38,500




2N
X ZH -
L= B

el

F=H= X
F=AN=XNSH
FAHE F=HEBMA

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Al 138,500
04 JIZtHIZ22NSE S 177,000 220,000 AN 43,000
OMASHE == NES 177,000
= 38,500
Al 138,500
206 M = Hl 184,000 250,000 A 66,000
o= 40,000
Al 144,000
01 X2 Hl 184,000 250,000 A 66,000
OMASHES “&2FH NWES 184,000
& 40,000
Al 144,000
401 Al HI YL 2 0HHI 7,000 10,000 A 3,000
< 1,500
Al 5,500
01 A& HI 7,000 10,000 A 3,000
OMASEHES T&EFH HES 7,000
= 1,500
Al 5,500
MF=E Al T 23 1,000,000 1,000,000 0
401 AIEHIL 20| 1,000,000 1,000,000 0
01 Al bl 1,000,000 1,000,000 0
OFFH AslFe B3 1,000,000
=8 M= 2HFH 4 5,000 5,000 0
201 Bt A H| 5,000 5,000 0
01 A2 2| 5,000 5,000 0
OAIZ =8 AIg=EE 1,320
OMIIEHEHFM 23 LAY 1,160
OAIZ =8 8 HAMNRARS A=Y 2,520
HEjYAUES 22 300,000 0 300,000
401 Al B2 20 HI 300,000 0 300,000
01 Al& H| 300,000 0 300,000
OFAMLLU = B2 300,000
HEL Y= 29 26,000 19,000 7,000
201 et A | 26,000 13,000 13,000
01 At 22l ] 13,000 8,000 5,000
oOFEMYLLU=FE 29 S 1,000
Os2I] 22l ¥ BAx=E 5,000
(OFSERE=3e: 7,000
02 332494l 13,000 5,000 8,000
03322 % MA 9,200




2N

X ZH
S =

F=H= X

PEHEXSE

S FHAANS FABIHA

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OFSIE 24+ & Hal 800
OATE =4&=2/H| 3,000
FHXNMM AFE =& X & 53,000 53,000 0
201 et d| 20,000 20,000 0
01 AP 2t 2| H| 20,000 20,000 0
OFAHA MM AIE 2 20,000
203 R F & 3,000 3,000 0
03 Al %=X QI Q=T 3,000 3,000 0
OFHMAM2HE S22 RS & &3
29 3,000
301 et A =2 30,000 30,000 0
12 JIEtE2 A= 30,000 30,000 0
OXNEMNM sS2ZHEI 24 30,000
BIMAUE A SN SHSHE =8 150,000 0 150,000
207 30 | 150,000 0 150,000
01 1R gyl 150,000 0 150,000
OBIEUXRA E5THM SHSHE =8 150,000
B AEHI ALY 200,000 260,000 A 60,000
o= 60,000
Al 140,000
401 Al HI L 2 0HHI 200,000 260,000 A 60,000
=} 60,000
Al 140,000
01 Al 200,000 260, 000 260,000
OH - 22 &4l 200,000
& 60,000
Al 140,000
HIE EaE 29 30,000 30,000 0
201 B9 30,000 30,000 0
01 At2 2| 30,000 30,000 0
Ol EHE &4 30,000
BIE Ol &2 150,000 0 150,000
401 AlEHIZL £ 0HY| 150,000 0 150,000
01 Al&H| 150,000 0 150,000
OulE 0§ 150,000
NEFHIA 252 HHIALE 90,000 800,000 A 710,000
401 Al HI L £ 0HHI 90,000 800,000 A 710,000
01 Al& H| 90,000 800,000 A 710,000
OMESFHA =232 HHAY 90,000




CFEASAY
CEFEASASA
CESASE =HEBNA

- - _ =]
HH .o (3H) - HEAY - B %Eﬁ HDS2
SHE B0 =E4 XA 7,600 11,400 A 3,800
=2 3,800
T 1,140
Al 2,660
402 Q2+ X2 0| & 7,600 11,400 A 3,800
2 3,800
< 1,140
Al 2,660
02 DI2FXHE2 AL 2 X (01 & TH 7,600 11,400 A 3,800
Os0HE Hool = o] 7,600
2 3,800
& 1,140
Al 2,660
ofIlot A XI& 281,460 351,460 270,000
NS A ALY 281,460 351,460 A70,000
201 et A | 130,460 130, 460 0
01 AFR22t2l Yl 106,860 106,860 0
OolIldtRA At 106,860
@l LotRAHE 2HHI 40,000
O=E=E=HZ 3,500
@ISt AHE 221 2,400
[ F==dsll 3,360
[ PNa= R NE= 57,600
02 =294l 21,600 21,600 0
odudteA s32HH| 21,600
=229l ¥ HMA 12,000
@ X & & EHy| 9,600
03 S AIS H I 2,000 2,000 0
OFH2BUE Y (2 AMxE) 2,000
202 O B 6,000 6,000 0
01 2L Y| 6,000 6,000 0
OIdtA At 6,000
206 M=l 120,000 140,000 A 20,000
01 X &2 bl 120,000 140,000 A 20,000
OodfIldtA At 120,000
O MU AP 118,000
@@L &Y a2 =2+ 2,000
401 Al HI L 2 THHI 25,000 75,000 50,000
01 A& HI 25,000 75,000 A 50,000
OL0I2MA 3L A 25,000
HHSAFH (FAH=XD) 49,592 58,928 19,336




CEASKIN
DRI ZH(FEHSEX D)
S JI=2FH(FEH=ETDN)

SN BA(SA) - MRAY - BES il HImEET
Jl2dHl(=HsX) 49,592 58,928 A9,336
JI2dHI(FH=EX ) 49,592 58,928 A9,336
201 Let24d] 23,552 27,968 A4,416
01 At 22/l 23,552 27,968 24,416
O R<IEet=:] 12,800
O= &l 10,752
202 44l 23,040 27,360 A 4,320
01 S LHOIYI 23,040 27,360 A 4,320
OJlegdRF=8 0l 23,040
203 YR =&l 3,000 3,600 A 600
04 REN2ELRZ=TH 3,000 3,600 A 600
ORN2IYRZ=AHI 250,000& »12& 3,000




